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Differentialrechnung

Mathematik 3. Klasse
Ilvo Blochliger

d) Nullstellen: 0 = f(z) = —%
1'1:—27182:2,.%'3:4

) (222—52—6)

Ableitung f/(z) = — G- (+2) _ @27 (@42) _ (@-0) @-2)" _

10 20 20 10

Nullstellen der Ableitung: =, = — ‘/?’5, T5 = \/?J“E’, T = 2
Zeite Ableitung f"(z) = —312*%
Nullstellen der zweiten Ableitung und mogliche Wendestellen: x7 = — ‘/ﬁ_g, T8 = @
Interessante Stellen:

z _9 _ @75 _ \/ifs) 9 \/iw 4

T —2.0000 —.8860 2416 2.0000 2.7583 4.0000

f(z) 0.0000 2.2667 1.3023  0.0000 .1698 0.0000

f(z) 4.8000 —.0000 —1.2469 0.0000 .3469 —1.2000

f"(x) | —6.4000 —2.4658  0.0000 .8000  .0000 —2.8000
Extrema:

(VT3-19) (VT3+5)° (vTB+11)

T4 _@_5 ~ —.8860, f(z4) = — 5120

V73-11) (V73-3)° (V73+13
5 = V7345 ~ 338607 f(-rS) — _( )( 5120) ( )
e = 2 & 2.0000, f(zs) =0=0.0000: f >0, Minimum
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~ 2.2667: f” < 0, Maximum
~ .3176: f” < 0, Maximum
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